RECEIVED

MAR 2 4 2003 KCC WICHITA

My Appt. Expires

Kansas Corporation Commission Oil & Gas Conservation Division

Form ACO-1 September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Form Must be Type

WELL HISTORY - DESCRI	ODICINAL
Operator: License # 8061	API No. 15 - 135-24185-0000 ORIGINAL
Name: Oil Producers, Inc. of Kansas	County: Ness
Address: P. O. Box 8647	NE_SW_SW_ Sec. 17 Twp. 16 S. R. 25
City/State/Zip: Wichita, KS 67208-0647	990 feet from (S)/ N (circle one) Line of Section
Purchaser: None	4290 feet from (E) / W (circle one) Line of Section
Operator Contact Person: Diana Richecky	Footages Calculated from Nearest Outside Section Corner:
Phone: (316_) 681-0231	(circle one) NE SE NW SW
Contractor: Name: Mallard JV, Inc.	Lease Name: Webster Trust Well #: 1
License: 4958	Field Name:
Wellsite Geologist: William Shepherd	Producing Formation: None
Designate Type of Completion:	Elevation: Ground: 2554' Kelly Bushing: 2559'
New Well Re-Entry Workover	Total Depth: 4556' Plug Back Total Depth:
OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 309 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
Plug BackPlug Back Total Depth	Chloride content 31.500 ppm Fluid volume 300 bbls
Commingled Docket No.	Dewatering method used evaporation and restore
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name:
	Lease Name: License No.:
07/30/2002 08/05/2002 N/A S • • • • • • • • • • • • • • • • • •	QuarterSecTwp. S. REast West County:Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs of TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.  All requirements of the statutes, rules and regulations promulgated to regulationerein are complete and correct to the best of my knowledge.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING
Signature: Signature:	KCC Office Use ONLY
Fitle: President Date: 03/20/2003	NO Letter of Confidentiality Attached
Nr.	If Denied, Yes Date:
Subscribed and sworn to before me this 20th_day of <u>March</u>	wireline Log Received
MSX_2003.	SGeologist Report Received
Notary Public: Leana C. Jechen	UIC Distribution
Date Commission Employ	
DIANA L. BEHECK	· · · · · · · · · · · · · · · · · · ·

vo

ORIGINAL

Operator Name: Oil Pi	roducers, Inc.	of Kansa	as	Leas	e Name:.	Webster Iru	st	Well #: _1	<del></del>			
Sec. 17 Twp. 16	s. <sub>R</sub> 25	Eas	st 🗸 West	Count	y: Nes	S						
INSTRUCTIONS: Show tested, time tool open a temperature, fluid recov Electric Wireline Logs s	ind closed, flowingery, and flow rate	g and shu s if gas to	t-in pressures, surface test, a	whether s along with	hut-in pr	essure reached	static level, hydro	ostatic pressu	ires, bottom ho	ie		
Drill Stem Tests Taken (Attach Additional Sh		Y	′es ✔ No		<b>₽</b> L	.og Format	and Datum	Samp	ole			
Samples Sent to Geolo	gical Survey	П	′es ✔ No		Nam	ie		Тор	Datum			
Cores Taken	•		′es ✔ No		Anh	ydrite		1951				
Electric Log Run (Submit Copy)		Y	′es ✔ No		Hee	bner		3851	3851 -1292			
List All E. Logs Run:	,		•		Lan	sing		3893	-1334			
Geological Report					Miss	sissippi		4496 4556		-1937 -1997		
					KIL	,		4550	-133	,		
		Repo		RECORD		ew V Used	tion, etc.	——————————————————————————————————————	·····			
Purpose of String	Size Hole Drilled		ze Casing et (In O.D.)	We Lbs.	ight / Ft	Setting Depth	Type of Cement	# Sacks Used	Type and P			
Surface		8 5/8"		20		309'	60/40 poz	200	2% gel, 3			
								· · · · · · · · · · · · · · · · · · ·				
	<u> </u>	l	ADDITIONAL	CEMENT	NG / SQI	JEEZE RECORI	)	<u></u>				
Purpose:         Depth           — Perforate         Top Bottom           — Protect Casing         Plug Back TD			e of Cement	#Sacks	s Used	Type and Percent Additives						
Plug Off Zone								·				
Shots Per Foot			RD - Bridge Pluç Each Interval Per			t Squeeze Reco	ord Depth					
						Plug185 s	acks 60/40 po	z, 6% gel,	1/4# flo: 455	6'		
						seal.						
		· ** · · · · · · · · · · · · · · · · ·	1									
		************					<u> </u>	<u></u>		·		
TUBING RECORD N/A	Size	Set At		Packer A	At	Liner Run	Yes ✔ No		<u></u>			
Date of First, Resumed Pro	oduction, SWD or E	nhr.	Producing Meth	od	Flowing	g Pumpi	ng Gas Lit	ft Oth	ner (Explain)			
Estimated Production Per 24 Hours	Oil	Bbis.	Gas	Mcf	Wate	er B	bls. G	Sas-Oil Ratio	Gr	avity		
Disposition of Gas	METHOD OF C	OMPLETIC	NO.			Production Inter	val					
Vented Sold [	Used on Lease		Open Hole	Perf	. c	oually Comp.	Commingled		*			



## ORIGINAL

SALES & SERVICE OFFICE: 10244 NE Hiway 61

10244 NE Hiway 61 P.O. Box 6613 Pratt, KS 67124-8613 (316) 672-1201 (316) 672-5383 FAX

#### SALES OFFICE:

105 S. Broadway Suite #420 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

ACIDIZING - FRACTURING - CEMENTING

MET THE TRANSPORTED THE PROPERTY OF THE PROPER

## Invoice

Bill to:		63959	001 Invo	ice Invo	ice Date	Order Order Dat
	OIL PRODUCERS INC.	OF KANSAS	2070		31/02	4964 7/30/02
	P.O. Box 8647		_		Service Descr	iption
	Wichita, KS 67208		Cement			
	Wienita, 100 07200					
				Webster 7	•	Well
AF	E CustomerRep	Treater	Well		urchase Orde	Terms
	Lavon Urban	K. Gordley	New We			Net 30
<u>ID.</u>	Description Description		<u>UOM</u>	Quantity	Unit Price	<del></del>
D203	60/40 POZ (COMMON)		SK	200	\$7.75	\$1,550.00
C310	CALCIUM CHLORIDE		LBS	510	\$0.75	\$382.50
F143	WOODEN CEMENT PL	UG, 8 5/8"	EA	1	\$85.00	\$85.00
E107	CEMENT SERVICE CH.	ARGE	SK	200	\$1.50	\$300.00
E100	HEAVY VEHICLE MILI	EAGE - 1 WAY	MI	150	\$3.00	\$450.00
E104	PROPPANT / BULK DE MILE, \$200 MIN	LIV SERVICES/TON	TM	1275	\$1.25	\$1,593.75
R200	CASING CEMENT PUM	PER, 0-300'	EA	1	\$630.00	\$630.00
R701	CEMENT HEAD RENTA	<b>AL</b>	EA	1	\$250.00	\$250.00
					Sub Total:	\$5,241.25
					Discount:	\$1,834.44
				Discoun	t Sub Total:	\$3,406.81
			Tax Rate:	6.30%	Taxes:	\$0.00
		(T)	Taxable Item		Total:	\$3,406.81

ORIGINAL

		INVOICE NO.			Subjec	t to Correction	(	FIELD	ORDER	RDER 4964				
			Date 7-30	-02	Lease _	TER TR	ust	Well #/	Legal	Legal 17-16-25				
SER	VICES,	LLC	Customer ID		County NESS			State 1/5.	Station	Person Ks				
OB	PROM	O ERS	BIV. E	F/S.	Depth	Formation	1	Shoe Joint						
H A					Casing 5/8	Casing Depthy	TD	TO Job Type  SUNFACE -NEW WEL						
R					Customer Repres	RACY								
		· · · · · · · · · · · · · · · · · · ·				. UPBI	·/	L	7). 901	206/				
AFE Number PO Number			,	Materials Received by	X Lavo	R	Ula							
Product Code	QUANTITY	MATER	IAL, EQUIPME	NT and SE	RVICES USED	UNIT PRICE	AMO	TAL	CORRECTION	COUNTING AMOUNT				
0203	Zoosk.	60/	10 100	CE	MENOI	V	<u> </u>							
<u>C310</u>	510 B.	CUT	CILLA	2 17/1	to RED DE				· · · · · · · · · · · · · · · · · · ·					
F143	IEA.	83/8	WOL	DF	EUG,	V			· · · · · · · · · · · · · · · · · · ·					
				· · · · · · · ·		<u> </u>			· · · · · · · · · · · · · · · · · · ·					
			4.1.1.1.1	<del></del>						<del></del>				
										-				
•						<u>                                     </u>				-				
			<del></del>			<u> </u>								
				-	······································									
				<u> </u>										
					<del></del>									
							ļ							
										<del> </del>				
				· · · · · ·										
				<del>, , .</del>		i	ļ <u>.</u>							
	7 (1/	11-			Alberta.									
E107	200 SK			alles	CHARCE	<u> </u>								
Elou Einst	150 mile 1275 TW	TONS		AILES AILES										
E104 R200 R701	IEA.	EA. 30		UMP CHAI	RGE									
R701	1874.			END	RENTA	,				-				
						-			<u> </u>					
		DIS	coun	N )	PRICE:		3406	.8/						
			PU	15 7	TAX									
10244 NF H	iway 61 - P O	Box 8613	Pratt KS 6	7124-86	13 - Phone (620	) 672-1201 . F	ax (620) 67	2-5383 T	OTAI					



## ORIGINAL

## COPY SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt. KS 67124-8613 (316) 672-1201 (316) 672-5383 FAX

ACIDIZING - FRACTURING - CEMENTING

分子的 and transfer and the and the second of the control of the con

### SALES OFFICE:

105 S. Broadway Suite #420 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

### Invoice

Bill to:		63959	001 Invoi	ce Invoi	ce Date   O	rder   Order Date			
Bill 10.	OIL PRODUCERS INC. C	E V ANICA C	2080	15 8/	8/02 5	068 8/4/02			
		r Kansas		S	ervice Descrip	tion			
	P.O. Box 8647		Cement						
	Wichita, KS 67208								
				Lease		Well			
		_		Webster T		1			
AFE	CustomerRep	Treater	Well	Type Pu	rchase Order	Terms			
	Kirk Urban	T. Seba	New We	11	:	Net 30			
ID.	Description		<u>UOM</u>	Quantity	Unit Price	<u>Price</u>			
D203	60/40 POZ (COMMON)		SK	185	\$7.75	\$1,433.75			
C321	CEMENT GEL		LB	640	\$0.25	\$160.00			
C195	CELLFLAKE		LB	40	\$1.85	\$74.00			
E107	CEMENT SERVICE CHA	RGE	SK	185	\$1.50	\$277.50			
E100	HEAVY VEHICLE MILE	AGE - 1 WAY	MI	150	\$3.00	\$450.00			
E104	PROPPANT / BULK DEL MILE, \$200 MIN	IV SERVICES/TON	TM	1200	\$1.25	\$1,500.00			
R400	CEMENT PUMPER, PLU (Workover Unit)	G & ABANDON	EA	1	\$650.00	\$650.00			
					Sub Total:	\$4,545.25			
					Discount:	\$1,636.29			
				Discount	Sub Total:	\$2,908.96			
			Tax Rate:	6.30%	Taxes:	\$0.00			
		(T)	Taxable Item		Total:	\$2,908.96			

ORIGINAL

	,	INVOICE NO.	Subject	t to Correction	FIELD	ORDER	5068				
		Date C 4-02	Lease. A	TER TRUST	Well #	Legal /7-	165-25W				
		Customer ID	Country	ESS	State	Station >					
	VICES,		Depth /V	Formation		Shoe Joint					
CIL!	Moucen	JUC OF KS.	Casing	Casing Depth	TDACT	Joh Tyme	C- ( 1.001)				
A			Customer Repres	entative	TD 4556						
G E						. SESA					
AFE Number		PO Number	Materials Received by	x Will	Halace	, , , , , , , , , , , , , , , , , , ,					
Product Code	QUANTITY	MATERIAL, EQUIPMENT and	SERVICES USED	UNIT PRICE	AMOUNT	ACC CORRECTION	OUNTING AMOUNT				
D-203	185 SKS	60/40 Poz	Ü								
C-321	640 lbs	CEMENT GEL	υ								
C-195	40 lbs	CELLPLAKE	<u> </u>								
	ļ			-							
			<u></u>								
				-							
						<u>.</u>					
1-100	125 (1)	CEMENT CEON	C1\000 = 2			<u> </u>	<del> </del>				
E-107		UNITS /WAY MILES	120 - 44KGR								
E-100	150 ME	TONS MILES	100								
E-104 R-400	1,700 TM 1 EA		CHARGE			· · · · · · · · · · · · · · · · · · ·					
K-700	1 517	1									
		DISCOUNTED F	RICE =	1	2,908,96						
		+ TAXES									
							<u> </u>				
102// NE	Hiway 61 . P O	. Box 8613 · Pratt, KS 67124	1-8613 · Phone (62	20) 672-1201 · Fax	x (620) 672-5383	TOTAL					

- A. . .

# ORIGINAL TREATMENT REPORT

ACID						Customer ID  Customer INC. OF KS.					Date 6 -4 - 0 2							
SERV	/ I C E S		L C			Lea				R TRUST		Lease No.		Well #	1			
Field Order #		7	RATT					Casing	D	epth	ď	ounty NE	35		ļ	ate Ks		
Type Job D	- A	<u>۱</u> ۲۰ ناکا		اتك			Formation						Legal Des	cription / 6	5-2	2.5CV		
	E DATA	, 00		RFOR	ATING	3 DAT	Α	FL	UID US	JID USED			TREATMENT RESUME					
Casing Size	Tubing Siz	Z <del>O</del>	Shots/F	ì				195	skı	sks 62/42 Po		RATE PRESS		ISIP				
Depth	Depth	-			+			Pre Pad	1444	44 CALFIAL Max								
Volume	Volume		From	· · · · ·	To			Pad Pad	Pad Pad		Min			10 Min.				
Max Press	Max Press	<b>.</b>	From		<u>To</u>			Frac			Avg		<u> </u>	15 M	n.			
Well Connecti	on Annulus V	ol.	From	<u></u>	<u>  To</u>					· · · · · · · · · · · · · · · · · · ·	HHF	Used		Annulus Pressure				
Plug Depth	Packer De	epth	From		To			Flush		<del></del>	Ges	Volume	<u> </u>	Total Load				
Customer Rep	presentative		From		То		n Manag	or O	<u>~~~~</u>	<del></del>		Treater 7	SE3A					
	·			1		3	-	57	JR4 36	, 71			<u> </u>			T		
Service Units	Casing		ubing	114	s, Pum		ا د	Rate	S K	2 1 11	L	Servi	ce Log	<u></u>	<del></del> -	<u> </u>		
Time	Pressure	Pro	essure	500	s. runq	pou		Kalo	CALL	ED OUT								
17:30						<del></del>			1		3	· · · · · ·	10-2-6	onto				
201.15										206 W/				1 1811 G				
711 00	1							5	-		56	- , , , , , , , , , , , , , , , , , , ,	۸۵					
21.00	175			<del>                                     </del>	i i			<del>-                                    </del>	PunpH20									
				<del></del>	4.1				BALIF DISP 3 BBH H 20 21 BBL MUD									
					2.4				D40.	Plu6 E	<u> </u>	53.011	CIL					
71.60								5	7		<u>770,</u>	۱۱۲۰۰	J		<del></del>	<del></del>		
21,50	150		<u> </u>	, ,	1			<del>)</del>		P HZ	2	<u></u>			·			
					.\					& Pum			<del></del>					
			-	<u> </u>	3.4				13/3L	t pisp lug 3	1-1	5000			-			
7772				<u> </u>				4	2	140 3	10	2021	· · · · · ·					
<u> 273</u>	100				4 1			<del>- 7</del>		PH20		- is						
					4.1			<del></del>	MIX	Pump	.5	0.525			-			
									Ball's DISP ATH Plug 40' NSL									
22 10				<del>                                     </del>		7			4	146 41	<u> </u>	107 m						
22.45				2	<u>, 5</u>	<u>s</u>	-			Pump			/2					
				1	) 4			<del>_</del>		CMT (			<i>L</i> 0			-		
			<del></del>	4	24	2				M Hol			<u></u>			<del></del>		
フマ・ニ				-	<u> </u>	<u>&gt;</u>	-		171u4				01212	: .				
23,20									-		<u>ט נ.</u>	B Com	15/1016	TA	2.0			
			04 5		6	C10-	Direct	L VC 674	24 961	3 • Phone						5383		